SEHSIHUMHONERAICEIT D
KRR VT — REGREE

oD

. OB
XIRB

Ei=listal:
BAEDE

XYKEDHBETI

. BETIE

. O

HEREE
BAICEET Dm20mM EDBLZ2,000A
2156281 38~3818

SEONEHRFT Z2EDD ETORBERE
LTERIDED,

=
SRNSHHINDEREAGIRDS. ADLEX(C

KDXIRE2,000 NZHEEBICHESE T
ciEEE e, (BU. sSlemEENEED)

EXEIC L DO RREERSOBAZEME
P — B

OEE& 801 A (@RE 40. 1%)




m— QT tn
X4 A % e Elyes
MR 20 o2 115 350 263
s e o 304 123 153 350 351
408 145 181 380 381
B M 385 48.1 501% 174 217 360 483
o 416 519 604 188 235 340 553
7 ORLE 79 29 220 359
801 100
5t 801 100 2000 401
QgiZ @R {EH
X5 A % E§a) AE % EUE | DR STa) A %
2HA 258 | 822 mist | 374 | 467 | 800 | 468 oxms | ees | s34
s 17 21
B BE 44 55
2 GBS 68 85 B;;-'gj 167 | 196 | 400 | 393 INA D :
N 51 6.4 &
i PP 136 | 170 | 400 | 340 o8 57 &
18 192 240 i
- . == 15 19 40 | 375 NA 12 15
IN—F -« PJUN 89 111
1k AR 24 30 60 | 400 fEs 19 24
.
- 2 26 S 94 | 117 | 300 | 313 — ; oA
b 102 127
O 1 0.1 - -




Siooe)

F1. REOEERE
Q. BHBERORRD, BROBFEOBS LEEICALSEIEDC, BIREE

(AN)
700

600
500
400
300
200

100

2,3, EEIBIICDUNT

RBCEDEDNETHEREQEEBZFIH, (3DURNTERT)
(%)
30
A - 25
A I\
\\ - 20
A L3 - 15
583
| R i 10
341
IE e | e pag | 1 -5
109
47 0
%) =8 F b 74 B8 = E = icd ozt z i
TH ) B5F 1t 1= o LU ¥ 5 RS ) @
B® =L i [d . it ﬁm’ D o =] A f =
M2 Y 18 i 2 &% 52 10 R Bo )
=S =4 15 5 7R N i ¥ th >
1t b I o) P N>
. v o &\ ED
B @ S ;Y [Ea
ES & 1t » 1t 1%
Jict} v
=

Q. SEFHRSEIHEOCE
ZCFUTUEED,

Q. WRIEDONTIECHED
TLIED,

Q. SIEHSHICT
MECTEDNBDFTID,

BEE
1%

-




4. 5EEIMthCXd D - 0%

Q. HREIE HEEBIMEICDONT, EOXDBIHD - EIREHKTHTI N,

(AN) 600 70
FI - 70 ()

/ \ - 40
- 30

0 I 39 1 143 1 _‘7 0
¥ & RS Z i
X i YN D =]
Iz 0] D P fto =
EFs) Ic Kl X0
(F< 5 =l
TN~ A 7 5
= g %=
2 ~ ~T
L = 1% &
< Ak 6
5. MERADEART—V
Q. BEER. FROFBEHZMHORFBE LTI, EORDBEART—VHER
NWEBZFIH,
(N) 450 - 55 (%)
S - 45
300 > e 35
e 5
153 146 \ﬁ e A IR -5
0 : . S i PR I S 8 5
= RE e 1955 ~ z m
7o) kS ) AD S, ) B
JAN Cﬁﬁ [ %b@ﬁ fto =
F Bl 2I wHrZEE
R iﬁh% B Pz IR
13 nze %2 DL
S VN
F':ﬂ6. %7\1‘%%
Q. Q5NOEZBFR. MTERADERT—VEERIRT DICIE. EDKDISHERE
DMNBEEZFIN., (2DUARNTERTD
)
(*2100 2§ %)
300 - - 20
- 15
200 - —
W | 10
T PN :
2
0 85,@_,,,,,%,,,52,Tﬁ,4sl L o
2 v 3 3 = = 2 15 (] 3 T z m
Vi = Vi B fity ™ 2N E— % B D =]
. v 1 N 3 . | 5 1 3 73 fto =
i~ 3 BE Vi BE X ) <) BE BE BE
15 Y, Y, 1t 1 A
. 3 1 E
=2 Vi BE
B 3
BE



